EARAROBEEIERT — 2 N— IBISH —F 2012837198 (A) 22mfELI2A

m"fﬁ% 3m 2 ‘ (XM&] W ‘ [BERE] — | 4 (5) 16000 &
[AE4£)] 1% :170,000  ~ 2% :34,000”  3%&:17,000 M 4% :8,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S0 e #o3 | Bt 1:50.1 6-6-3-1 |39.4| — 1 457 | ML (FELL)
1{7|7|1T—7NMN22— 56.0 s} () RS
QA= GNHTr BULARIS © | s
2 o | K=FTNLTF ¢ 3 E‘%Eﬁi 1:(5??).8 2-2-1-1 | 40.4| — | 4 | 408 ;}gﬁz% (F&HL)
LTy IRANE BEILO-—X OO | &k ik
311 7vEX 4% 3 g%ziﬂé%u% 1:51.0 1-1-1-3 | 40.7| — 3 412 i;ﬁ% (#&1)
LT RTAYLAL BSALRFT— ) 3% 574
4 4| T-VRILHEZ f 3 g‘JLB[i)?ﬂﬁ 1:(552).1 4344 |45 — | 2 <4+713; ?E%é (f8LL)
R:aAFTpAV— B:3FI/ILHLZR HFAYREy K
5 3| RV TRy T 3 E%figiﬁﬁ 1:(553).1 3-4-4-6 | 425 — | 7 | 3718 $§é§ (&)
RAYYLTH T Ry TT T O | mar=mas
6 6 TJLT7YLTEYT 4 3 {ﬁﬂ%&’éﬁa 1;(3’13).3 5-5-4-5 |42.7| — 5 412 dujﬁ?j;% (#&1L)
L:T7 RIS YT w8y B:T7LF7YLTELZR (-1) o BRE
75l 5| 27V T54T # 3 | RWES (11513/26> 6-7-7-7 | 423 — | 6 <4_E;2) ﬁ;ﬁ%ﬂ& ()
L:TTvIk=9 B:XTVLTTU—=> R RS S

@ 11— —@EBIRfL

1a—74— |1,2,3,4,6,(5,7)

23—F— |1,2,4,3,6,7,5

30—F+-— (1,2),7,(3,4,6),5

42—+— | (2,7),1,4,6,3,5

[ /N

B OB 7 180 | | B &E 2-7 1,010 | | 3&#8 1-2-7 1,040

BB 7 1201 | | & B 7-2 1,510/ | | &8s 7-2-1 4,150
2 660/

ABICOVWTRDTEEERROODE. TR LIV,



